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Vaitliga (15.00%)

ansaagne 1 2560 manidaiau NNFIAN 100.00 UV
nanuilsLiauy NNAWUE 100.00 UV
naniiaifay AuUAN 100.00 LN
nanudsLiauy LY 100.00 LN
nanudsLiauy NOHNIAN 100.00 LN
nanuiisLiauy NQuIeu 100.00 UV
nanuiisLiauy nsNHIAN 100.00 UV
nanuiisLiauy FAUAN 100.00 UV
nanudsLiauy NUENeY 100.00 LN
nanusLiauy ANIAN 100.00 UV
paniieLfau WOAANIU 100.00 U
nanilsLiau fUNAN 100.00 UV
PR 1,200.00 UM

ARNLLERUNASAN 1,200 X 15.00% = 180.00 LN (RULRALAY)
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50,000 x 6.20% = 3,100.00UN
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(@IMRUADUAZ 1,000 UIN)

NNIINN 1,000 9™ 11 WIT 12 9M 620 % = 56.83
PUAMWUE 1,000 AM 10 WIS 12 g 620 % = 51.67
NN 1,000 A 9  WIT 12 AWM 620 % = 46.50
Y 1,000 9 8 WIT 12 9M 620 % = 41.33
ngEMAN 1,000 AWM 7 WIS 12 QM 620 % = 36.17
Nguweu 1,000 QM 6  WIT 12 AWM 620 % = 31.00
ASNYIAN 1,000 AWM 5 WIT 12 9 620 % = 25.83
FaAN 1,000 AWM 4 WIT 12 AWM 620 % = 20.67
DHENBY 1,000 A 3 WIS 12 A 620 % = 15.50
aanu 1,000 AW 2 WIT 12 M 620 % = 10.33
WEADMEM 1,000 9 1 WIT 12 AWM 620 % = 5.17

W = 341.00

FINEAUTUND 1 + 2 (3,100+341=3,441)



